do3ocodbooocuooonoonoonoooooonon
OO0 PDFOOOOOOOOOOOOOOOOOO
https://www.100test.com/kao_ti2020/134/2021 2022 E6 8C 91
E6 88 9830 E5 A4 c97 13450l.htmUI OO0 COoUon
Jodododooooooooooooooooodgo
OJo00o00odododoooooooooooooon
OJo00o00o0ooooooooooooooooooOoo
Oo000000o0oo0oooooooooooooOgo
OJ000000000 00000 cOO classTest{//000O 0O
0 }intmain() { Testa,c.c=aa. }U OO0 O0OOO0OOOOO
OO000cOO00O00O00O00O00O00O00O00O00O000
O0cOO0O0O0O0 OcOOOOOOOOOOOOOOOO
Jododoodododouododoououoooon
Jodododooooooooooooooooodgo
Jo00o0ooooooooooooooooooodgo
OJo00o00o0ooooooooooooooooooOoo
O00000cOd0O00O0o0ooooooooooooon
O.0:000 420){thiswidth=420}"'>0 0 00 CO 000 OO0
O000000000ooooooooooooooon
OJO0O0000O000O0operatorJ 0000 (MOOO){//O
Jo00odooojobooooooooooooooooo
Jododooododooooooooodooodo
Jo00o00oodoooooouooooooouoooon
Joodocono/oooo:oo /00 :.www.cndev-lab.com
//O00000000,0000,0000000000
#include iostream> using namespace std. class Test { public: Test(int



a=0){ Test::a=a. } friend Test operator (Testamp.). friend
Testamp.). public: int a. }. Test operator (Testamp. temp2)// U O [
0 00O {//cout Test result(templ.a temp2.a). return result. }
Testamp. temp)// 0 0 0 0O O 0O O {temp.a. returntemp. } int
main() { Testa(100). Test c=a a. cout ¢ . cout system("pause"). } [
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000000 #include iostream> using namespace std. class Test {
public: Test(inta=0) { Test::a =a. } friend Test operator
(Testamp.). public: int a. }. Test operator (Testamp. temp2)// 1 [
00000 {Testresult(templ.a* temp2). return result. } int
main() { Testa(100). Test ¢ =a 10. cout system("pause"). } 100Test
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